09941-03.2014-DGbF

@) Montageanleitung fiir Bock Wellenkupplungen
@ Instructions for assembly of Bock shaft coupling
o Instructions de montage pour Bock accouplement de I‘arbre

WK-Kupplungen

Montage

®

%

D

WK shaft coupling

Assembly

Accouplement de I‘arbre WK

Montage

OJOXO,

—
’ (J
/
Motor
Motor
Moteur
Y1
,_,.fo— [ E |

Y2

WK 18 WK42 WK70 WK 190
Y1-Y2 02 025 0,25 0,3

Achtung ! An Messstellen Lack entfernen !

1. Nabenteil (1) auf Wellenende des Motors
montieren. - Bild 1 -

2. Nabenteil (2) samt Zwischenflansch (3) und
Gelenkscheibe (4) mittels Spannschraube (5)
auf Wellenende des Verdichters festschrauben.
- Bild 2 -

3. Motor und Verdichter geméas Angaben Bild 4
so ausrichten und befestigen, dass ihre Wellen
genau fluchten und der Abstand zwischen
Nabenteil (1) und Gelenkscheibe (4) gleich der
Dicke der Distanzscheiben (6) ist.

4. Nabenteil (1) mit Gelenkscheibe (4) und
Distanzscheiben (6) verschrauben. Samtliche
Schrauben (7) (6x) mit Loctite (mittelfest)
verkleben und mit Anzugsdrehmoment nach
Tabelle festziehen. - Bild 3 -

Verdichter Motor
-2- Compressor Motor
Compresseur Moteur

WK 18 ... WK 190
Xmax = 0,1

-4 -

Attention ! Remove varnish at measuring
points !

1. Fit the hub part (1) onto the shaft end of the
motor. - Fig. 1 -

2. Screw the hub part (2) with intermediate flange
(3) and shaft plate (4) onto the shaft end of the
compressor by means of a tightening screw
(5). - Fig. 2 -

3. Adjust and fix the motor and the compressor
as shown on fig. 4 in a way that their shafts
align exactly and that the space between
hub part (1) and shaft plate (4) is equal to the
thickness of the distance washers (6).

4. Screw the hub part (1) with shaft plate (4) and
distance washers (6). Cover (6x) with Loctite
(medium-hard) and tighten all screws (7) with
tightening torque according to the table.

- Fig. 3 -

V Q,

= @

W
® @ Verdichter
3. Compressor
Compresseur
rL
| _ 4& P -
_ B
s}
Qmax
WK18 WK42 WK70 WK 190
Q 20 24 38 41

Qmax 205 245 385 415

Attention ! Enlevez la peinture aux points de
mesure !

1. Monter la partie du moyeu (1) sur le bout
d‘arbre du moteur. - Fig. 1 -

2. Visser la partie du moyeu (2) avec la plaque
intermédiaire (3) et la piece d’accouplement
(4) sur le bout d‘arbre du compresseur avec la
vis de fixation (5). - Fig. 2 -

3. Aligner et serrer le moteur et le compres-
seur selon les données de fig. 4 pour que
leurs arbres s‘alignent exactement et que la
distance entre la face du moyeu (1) et la piece
d’accouplement (4) corresponde a celle des
entretoises (6).

4. Visser la partie du moyeu (1) avec le piéce
d’accouplement (4) et les entretoises (6).
Coller (6x) avec frein-filet (moyen) et serrer
toutes les vis (7) selon le couple de serrage du
tableau. - Fig. 3 -



@) Montageanleitung fiir Bock Wellenkupplungen
@ Instructions for assembly of Bock shaft coupling
o Instructions de montage pour Bock accouplement de I‘arbre

[ D J D L F

Demontage Disassembly Démontage

1. Schrauben (7) l6sen und Gelenkscheibe (4) 1. Unscrew the screws (7) and remove the shaft 1. Dévisser les vis (7) et retirer la piece
herausnehmen. - Bild 1 - plate (4). - Fig. 1 - d’accouplement (4). - Fig. 1 -

2. Schrauben (8) losen und Zwischenflansch (3) 2. Unscrew the screws (8) and remove the 2. Dévisser les vis (8) et retirer la plaque inter-
herausnehmen. - Bild 2 - intermadiate flange (3). - Fig. 2 - médiaire (3). - Fig. 2 -

3. Nabenhilfte auf der Verdichterseite mit 3. Drive the hub half at the compressor side out 3. Extraire le moyeu du cone du bout d’arbre
Spannschraube (5) vom Konus abdriicken und of the cone with the tightening screw (5) and compresseur avec la vis de fixation (5) et
Teil herausnehmen. - Bild 3 - remove the part. - Fig. 3 - enlever la piece. - Fig. 3 -

Kupplung Typ Schrauben (7) Anzugsdrehmoment (7) Schrauben (8) Anzugsdrehmoment (8)
Coupling type Screws (7) Tightening torque (7) Screws (8) Tightening torque (8)
Type accouplement Vis (7) Couple de serrage (7) Vis (8) Couple de serrage (8)
WK 18.22 M10 x 30 DIN 912 47 Nm M8 x 20 DIN 933 24 Nm
WK 42.22 M10 x 40 DIN 912 47 Nm M10 x 30 DIN 933 47 Nm
WK 70.40 M16 x 60 DIN 912 90 Nm M12 x 35 DIN 933 82 Nm
WK 190.50 M20 x 65 DIN 912 140 Nm M12 x 40 DIN 933 82 Nm
WK 190.60 M20 x 65 DIN 912 140 Nm M12 x 40 DIN 933 82 Nm

09941-03.2014-DGbF



09941-03.2014-DGbF

@) Montageanleitung fiir Bock Wellenkupplungen
@ Instructions for assembly of Bock shaft coupling
o Instructions de montage pour Bock accouplement de I‘arbre

BoWex-Kupplungen

Montage

® @

-1-

Achtung ! Verlagerungswerte beachten !

1,5 mm

Radialverlagerung
Radial displacement
Tolérance radiale

1. Zylinderschrauben (3) (10x) vor dem Ein-
schrauben mit Loctite (mittelfest) benetzen.
Kupplungsflansch (1) und Elastomerteil (2) mit
Zylinderschrauben (3), Anzugsdrehmoment
120 Nm, verschrauben.

- Bild 1 -

2. Kupplungsflansch (1) auf Wellenende des
Motors (4) schieben und mit dem Gewindestift
(5) sichern. Anzugsdrehmoment 17 Nm.

- Bild 2 -

3. Nabe (6) auf Wellenende des Verdichters (7)
schieben. Durch axiales Verschieben von Nabe
(6) auf dem Wellenende, das EinbaumaB L
einstellen. Die Nabe (6) mit dem Gewindestift
(8) sichern. Anzugsdrenmoment 17 Nm.

- Bild 3 -

D

BoWex shaft coupling

Assembly

-9.

Attention ! Observe displacement figures !

Winkelverlagerung
Angular displacement
Tolérance angulaire

1. Before screwing the cylinder head screws (3)

(10x) wetting them with Loctite (medium-hard).

Screw the coupling flange (1) and the elasto-
mer part (2) with the cylinder head screws (3),
tightening torque 120 Nm.

-Fig1 -

2. Slide the coupling flange (1) onto the shaft end
of the motor (4) and retain it with the threaded
pin (5). Tightening torque 17 Nm.

-Fig 2 -

3. Slide the hub (6) onto the shaft end of the
compressor (7). Set the assembly dimension L
by axial sliding from the hub (6) onto the shaft
end. Retain the hub (6) with the threaded pin
(8). Tightening torque 17 Nm.

-Fig3-

Accouplement de I‘arbre BoWex

Montage

®
®

@

T

wnimnminmmmeil |

|
| [oimimimuniinin,

L=190 mm

-3-

Attention ! Respecter les valeurs des tolérances !

+2 mm

Axialverlagerung
Axial displacement
Tolérance axiale

1. Avant de visser les vis BTR (3) (10x) appliquer

du frein filet (moyen). Assembler la flasque
d’accouplement (1) et la piece en élastomere (2)
avec les vis BTR (3), couple de serrage 120 Nm.
-Fig1-

. Monter la flasque d’accouplement (1) sur le

bout d’arbre du moteur (4) et le bloque avec la
vis de clavette (5). Couple de serrage 17 Nm.
-Fig2-

. Monter le moyeu (6) sur le bout d’arbre du

compresseur (7). Régler la dimension du mon-
tage L en faisant coulisser le moyeu (6) sur le
bout d’arbre. Bloquer le moyeu (6) avec la vis
de clavette (8). Couple de serrage 17 Nm.
-Fig3-



@) Montageanleitung fiir Bock Wellenkupplungen
@ Instructions for assembly of Bock shaft coupling
o Instructions de montage pour Bock accouplement de I‘arbre

Demontage

-1-

1. Gewindestift (8) entfernen und Nabe (6) vom
Wellenende des Verdichters (7) abziehen.
- Bild 1 -

2. Gewindestift (5) ldsen und Kupplungsflansch
(1) vom Wellenende des Motors (4) abziehen.
- Bild 2 -

3. Zylinderschrauben (3) (10x) herausschrauben,
Elastomerteil (2) vom Kupplungsflansch (1)
entfernen.

- Bild 3 -

Anderungen vorbehalten!

D

Disassembly

® O

i
,%,
t D

® _,.

1. Remove the threaded pin (8) and take-off the

hub (6) from the shaft end of the compressor (7).

- Fig 1 -

2. Unscrew the threaded pin (5) and take-off the
coupling flange (1) from the shaft end of the
motor (4).

-Fig2-

3. Unsrew the cylinder head screw (3) (10x), re-
move the elastomer part (2) from the coupling
flange (1).

-Fig3-

Subject to change without notice!

Démontage

®© @

® ;.

1. Enlever la vis de clavette (8) et retirer le moyeu
(6) du bout d’arbre du compresseur (7).
-Fig1-

2. Dévisser la vis de clavette (5) et retirer la
flasque d’accouplement (1) du bout d’arbre du
moteur (4).

-Fig2-

3. Dévisser les vis BTR (3) (10x), enlever
la piece en élastomeére (2) de la flasque
d’accouplement (1).

- Fig 3 -

Sous réserve de toutes modifications !

GEA Bock GmbH - Benzstr. 7 - D-72636 Frickenhausen - Tel.: +49 7022 9454-0 - Fax: +49 7022 9454-137 - bock@gea.com - www.bock.de

09941-03.2014-DGbF



